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Math F251: Section 4.3 Worksheet Wednesday 31 October 2018
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(a) What is the domain of F(z)? é((*— 0 ) 6]

e e = TN S
(b) Find the intervals of increase or decrease and critical numbers.

(c) Find the intervals of concavity and the inflection points.

(d) Sketch the graph.
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2. Compute the following hrmts, you may use L’Hopltal s rule:
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(Can you compute the second limit without L'Hopital's rule? How?) = 775 o [
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(a) What is the domain of g(z)? é—i% ’:/é O,E or (""67"‘{_)03 U(Ou{:m) >

(b) Find the horizontal and vertical asymptotes.

g(z) =

(c) Find the intervals of increase or decrease and critical numbers.
(d) Find the intervals of concavity and the inflection points.
(e) Sketch the graph.
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